



Vendor Ranking Page:

Call Order: 010 Contract ID: 0284330 Counties: Aiken

Letting Date: June 10, 2014 2:00 P.M. District(s): 7

Contract Time: 05/31/15 COMPLETION DATE

Contract Description: 2015 State Pavement Preservation Program (Chip Seal) - Aiken PCN(s): P027078

Rai	nk	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	1EV006	EVERETT DYKES GRASSING CO., INC.	\$620,093.16	100.00%
2	1LI022	LITTLEFIELD CONSTRUCTION CO.	\$627,089.76	101.13%

THIS IS TO CERTIFY THAT THIS IS A TRUE AND CORRECT COPY OF ALL THE BIDS RECEIVED ON THE ABOVE LETTING DATE FOR THIS PROJECT.

CONTRACT ADMINISTRATION ENGINEER	Date	1
CONTINUE NO MINIOR CONTROL CON	Date	,

APPROVED BY: Janet P. Oakley TITLE: Secretary of Transportation





Tabulation of Bids

Page 1 of 3

Contract ID: 0284330 Counties: Aiken

Letting Date: June 10, 2014 District(s): 7

Call Order: 010 Project(s): P027078

Contract Time: 05/31/15 COMPLETION DATE Min: Max:
Contract Description: 2015 State Pavement Preservation Program (Chip Seal) - Aiken

Line No / Item ID Item Description		(1) EVERETT DYKES GRASSING CO., INC.		(2) LITTLEFIELD CONSTRUCTION CO.				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 1 Roadwa		Roadway Items	Cat Alt Set:		Set:	Cat Alt Membe		
0010	1031000	(1)	30,000.00000	30,000.00	30,000.00000	30,000.00		
MOBILIZ	ATION	LS						
0020	1032010	(1)	2,800.00000	2,800.00	4,000.00000	4,000.00		
BONDS A	AND INSURANCE	LS						
0030	1071000	(1)	19,500.00000	19,500.00	20,000.00000	20,000.00		
TRAFFIC	CONTROL	LS						
0040	4011004	14.400	600.00000	8,640.00	800.0000	11,520.00		
LIQUID A	SPHALT BINDER PG	64-22 TON						
0050	4030350	240.000	100.00000	24,000.00	100.00000	24,000.00		
-	ASPHALT SURFACE TYPE D	E TON						





Tabulation of Bids

Page 2 of 3

Contract ID: 0284330 Counties: Aiken

Letting Date: June 10, 2014 District(s): 7

Call Order: 010 Project(s): P027078

Contract Time: 05/31/15 COMPLETION DATE Min: Max:
Contract Description: 2015 State Pavement Preservation Program (Chip Seal) - Aiken

Line No / Item ID Item Description		(1) EVERETT DYKES GRASSING CO., INC.		(2) LITTLEFIELD CONSTRUCTION CO.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 1	Roadway Items		Cat Al	t Set:	Cat A	It Member:	
0060 4060010 ASPHALT SURFACE TREATMENT(SINGLE TREATMENT)	353,660.263 SY	1.37000	484,514.56	1.38000	488,051.16		
0070 6051120 PERMANENT CONSTRUCTION SIGNS (GROUND MOUNTED	-	8.00000	5,312.00	6.00000	3,984.00		
0080 6250010 4" WHITE SOLID LINES (PVT EDGE LINES)-FAST DRY PA		0.08000	17,641.44	0.08000	17,641.44		
0090 6250025 24" WHITE SOLID LINES (STOP/DIAGONAL LINES)-FA DRY PAINT	416.000 LF AST	3.00000	1,248.00	3.50000	1,456.00		



Tabulation of Bids

Page 3 of 3

Contract ID: 0284330 Counties: Aiken

Letting Date: June 10, 2014 District(s): 7

Call Order: 010 Project(s): P027078

Contract Time: 05/31/15 COMPLETION DATE Min: Max:
Contract Description: 2015 State Pavement Preservation Program (Chip Seal) - Aiken

Line No / Item ID Item Description		(1) EVERETT DYKES GRASSING CO., INC.		(2) LITTLEFIELD CONSTRUCTION CO.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 1 Roadway Items		S Cat Alt Set:		Cat Alt Member:			
0100 6250105	13,175.000	0.12000	1,581.00	0.12000	1,581.00		
4" YELLOW BROKEN LINE EXC) - FAST DRY PAINT	S(GAPS LF						
0110 6250110	240,502.000	0.08000	19,240.16	0.08000	19,240.16		
4"YELLOW SOLID LINE(PVT.EDGE&NO PASS ZONE)-FAST DRY PAINT	LF SING						
0120 6301100	1,872.000	3.00000	5,616.00	3.00000	5,616.00		
PERMANENT YELLOW PA MARKERS BI-DIR 4"X4"	VEMENT EA						
Section Totals:			\$620,093.16		\$627,089.76		
Contract Totals			\$620,093.16		\$627,089.76		
Cost Plus Time Totals			\$620,093.16		\$627,089.76		

⁽⁾ indicates item is bid as Lump Sum